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X 4.120.5%

Q.57 o 5155 AuAH] 65% [l qe13] el we AR wlg 5316l 30% ) aelR) el dl 2562 quR) S26l &l & A 2dldl

Question ID : 630680664819

Option 11D : 6306802602872
Option 2 ID : 6306802602873
Option 3 ID : 6306802602874
Option 4 1D : 6306802602875

Status : Answered
Chosen Option: 3
Q.52 o 516 Yocisell (BHdl uddl 22% aul wia ugdl 22% 6l 4. dl A Yaeisell (BHdHi 59 ed dslad 87
Ans
7 22% YRl Y 8
X2 22% gelsl YUY 8
X3 818 dsldd «tell
V4 4.84% delSl AL &
Question ID : 630680664828
Option 11D : 6306802602911
Option 21D : 6306802602909
Option 31D : 6306802602908
Option 41D : 6306802602910
Status : Answered
Chosen Option : 4
Q.53 A5 qolui 24 ([qerie{file] AL drt 45 kg B. % (2lei5e] qoel ARG 5200 41 dl A2101 9%t 500 A gl md B, dl
(21815} a5t 2lldl.
Ans X 1. 555 kg
X 2 53.5 kg
3 B7.5kg
x4 495 kg
Question ID : 630680664866
Option 1 ID : 6306802603062
Option 2 ID : 6306802603061
Option 31D : 6306802603063
Option 4 ID : 6306802603060
Status : Answered
Chosen Option : 3




Q.54 951 85486A 4 6 a3 120l AU B, il A cAgri e 2Alell.

Ans X1 4
X2 8
3 2
X4 6

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680664858

6306802603028
6306802603030
6306802603031
6306802603029

Status : Answered
Chosen Option : 1

Q.55 s gslotel2 datl Hldel uSd2 [BUd 52l 40% ay (3ud (Ulad 53 8 uid U85 U2 45% [Se81Ge2s1l Ul 10 B, dl d-ll

uil2-l g4 2slalil el

Ans X 1. 25%

X 2 15%
X 3. 19%
4 23%
Question ID : 630680664801
Option 11D : 6306802602801
Option 21D : 6306802602803
Option 31D : 6306802602802
Option 41D : 6306802602800
Status : Answered
Chosen Option : 4
Q.56 yiy ay ugdl ofldiell Gz Aetl Yot 52l ARGl 91w gy udell, Aldiedl Giz Auetl Yotsll Guz 526113 A6 sl Ausil
eletsfl Gu2 Bedl 87
Ans
v 1 7ay wq 31 gy
X2 6oy ue 30 gy
Xo 7 gy e 32 gy
X4 g ay ua 32 gy
Question ID : 630680664739
Option 1 ID : 6306802602552
Option 2 ID : 6306802602554
Option 3 ID : 6306802602555
Option 4 ID : 6306802602553
Status : Answered

Chosen Option :

1




Q.57 =1 800 A & 1N 2l Tld (A1 s 4] 2419 5 215 118 oflostedl AR 7 : 13 UL SI, ol ALl Alsfl 2ul 20,

Ans X 1. 350
2. 280
X3 210
X 4. 260
Question ID : 630680664790
Option 1 ID : 6306802602759
Option 2 ID : 6306802602756
Option 31D : 6306802602758
Option 4 ID : 6306802602757
Status : Answered
Chosen Option : 2
Q.58 AUiciR A&l (AP) -l Heell Ue (MU UE dRg) 20l 113 ue 2leil : 4, 7, 10, ........88.
Ans X q 52
X2 54
¥ 3 58
X 4. 56
Question ID : 630680665456
Option 1 ID : 6306802605401
Option 2 ID : 6306802605402
Option 31D : 6306802605403
Option 4 ID : 6306802605400
Status : Answered
Chosen Option: 3
Q.59 s oliz-ll R Wi 3354 25 km/hr & 1 Melts-l 3su 7 km/hr 8. uats-l [Cea Rudl ssu
A UdtsHl 21t dg-l 235U a3l dstad il
Ans X111 km/hr
+ 2. 14 km/hr
X 3.9 km/hr
X413 km/hr
Question ID : 630680664762
Option 11D : 6306802602644
Option 2 ID : 6306802602646
Option 3 ID : 6306802602647
Option 4 ID : 6306802602645
Status : Not Answered

Chosen Option :




Q.60 <l AlARI A 2 B g8 244 Wil (15191 5:4 44 3:4 AL JRIeRUI B, 31 IQlivR 2l

el AadlA g (s et U dl 2458 g8 14 2454 Well St
Ans  @1.9:7

$ ogui 21

X26:7
X3 8:7
X41:7
Question ID : 630680664860
Option 11D : 6306802603036
Option 21D : 6306802603038
Option 31D : 6306802603037
Option 41D : 6306802603039
Status : Answered
Chosen Option : 1
Section : Part B - Constitution of India, Current Affairs, Comprehension, Technical Qualification
Q.61 AUUEAL SRS -lsiu®.
Ans X 1.3
X2 9ay
o 3.5l
X 47ad
Question ID : 630680665442
Option 1 ID : 6306802605344
Option 2 ID : 6306802605347
Option 3 ID : 6306802605345
Option 4 ID : 6306802605346
Status : Answered
Chosen Option: 3
Q.62 HAGA §RoI-l A1 €35 I2IRSA BRAREL - AAR]SL YANRIA HIUEST Wied- s W2
Acldl ULE UL D,
Ans 1. dis2uél (Democratic)
X 2.1l (Monarchy)
X 3. Apudle (Communism)
X 4. gel- a3 (Aristocracy)
Question ID : 630680664937
Option 11D : 6306802603344
Option 2 ID : 6306802603345
Option 31D : 6306802603346
Option 41D : 6306802603347
Status : Answered

Chosen Option :

1




Q.63 AUAGUHI (Al AU 2 SrgA R ug2Ale AR (Ea 526 AU WA HIReAL
gule gL Al AISI-L AHG A O,
Ans X 1.222,22
< 2.545,20
o 3.233,12
X 4.350,15
Question ID : 630680665433
Option 1 ID : 6306802605308
Option 2 ID : 6306802605311
Option 3 ID : 6306802605309
Option 4 ID : 6306802605310
Status : Answered
Chosen Option : 3
Q.64 oAl 212 2 B 3 eURel Wicl-ll 2ctciat Al B WA d W+ SIS Cllgl Uil WLEU -2]),
HRIAGL WA SIERAL cl-tddl-l Al B, 95 Biys HUTERAIA BUelA D.
Ans o 1.2adell (Sovereign)

X 2. vesetis (Republic)
< 3. dis2uél (Democratic)

5 4. [Guivel@s (Secular)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680665447
6306802605365
6306802605364
6306802605366
6306802605367
Answered

1

Q.65 GIElRBL-AL AFBE 51-A Ui BicUR Y S2cll Ynojd 52981 YRioi B?
X 15

X 2.15

X 3.21

o 411

Ans

Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :
Status :
Chosen Option :

630680664934
6306802603332
6306802603334
6306802603335
6306802603333
Answered

4




Q.66 U SRl BU-AleMi A1 UIR d-ll Uella-AHT BedPid diflw 0.

Ans

25 1. Adverr 22, 1950
o 2. iR 26, 1949
X 3. 16, 1947
X 4 AdeR 2, 1948

Question ID : 630680665443
Option 11D : 6306802605350
Option 2 ID : 6306802605349
Option 31D : 6306802605348
Option 4 ID : 6306802605351
Status : Answered
Chosen Option : 2
Q.67 w[Lie 1Rl Akl S 2 AU 2 ddlade gt s Hee 53 B, lA-1nial 53 w[Bia
AUl AL G191 -=01?
Ans X 1. R adt AciAl
o 2. U (Jury)
X 3.1PS
X 4.1AS
Question ID : 630680665426
Option 11D : 6306802605283
Option 2 ID : 6306802605281
Option 31D : 6306802605282
Option 41D : 6306802605280
Status : Answered
Chosen Option : 2
Q.68 AR UdRAU Yeled AU Rctcaui 2l 14 Al w2 dss AL A% Ulond el
Ans X 1.1511952
o 2. 28 o1y 1950
X 3.15ur=l 1948
X 414 Adrer 1947
Question ID : 630680665420
Option 1 ID : 6306802605259
Option 2 ID : 6306802605258
Option 3 ID : 6306802605257
Option 4 ID : 6306802605256
Status : Answered

Chosen Option :

1




Q.69

Auid A SIUEL LSl Avd LU vl ol
Ans X 1.yaed 24[EsRl (Fundamental Rights)

X 2. yoed 5291 (Fundamental Duties)

o 3. A% At (iEas Rigicdl (DPSP) (Directive Principles of State Policy (DPSP))

75 4. ¢ieReL (Constitution)

] cdMiH BUERATAL UM 53 B B AUV VAR BT 1 821 W12 Al asell

Question ID : 630680664942
Option 1 ID : 6306802603366
Option 2 ID : 6306802603367
Option 31D : 6306802603365
Option 4 ID : 6306802603364
Status : Answered
Chosen Option : 3
Q.70 lA-Hiadl 58 52158 GURCAAL GiEIRRIMI ASS ST 2Ll =l?
Ans X 1.-RlSU s2lsd
X 2.0l s2lsdl
o 3. %%las selsdl
X 4. diaRellu saisdl
Question ID : 630680665429
Option 11D : 6306802605295
Option 21D : 6306802605292
Option 31D : 6306802605293
Option 41D : 6306802605294
Status : Answered
Chosen Option : 3
Q.71 ___ &RLoioF2 U3 20231 GelRielui Wil RST 4 YRcteelld 220l 1 21ainl (AMASR)
(YUY e §=0l 20y seumi 20d dell 2iden ©.
Ans X 1.20Ruld (President)
X 2. 8¢ ARt uL2ll (Union Territories)
o 3. 3~ AsR(Central government)
5 4.9 ASR (State government)
Question ID : 630680664911
Option 11D : 6306802603241
Option 2 ID : 6306802603243
Option 3 ID : 6306802603242
Option 4 ID : 6306802603240
Status : Answered
Chosen Option : 3




Q.72 &AM Rie YA ygini

o35 Ggu-t ANl (SAF) UR i 5(ud 53 ©.
Ans o 1.3ueslsld (Alcohol)
75 2.3 ©18L (Cow Dung)
< 3. uU[R¥ (Fossil)

X 4. s183los+t (Hydrogen)

2l T2 i cl-lddl UaAH Uiz Uiegse+] Bgile- 53, 93 2516

Question ID : 630680664916
Option 1 ID : 6306802603263
Option 2 ID : 6306802603261
Option 31D : 6306802603260
Option 4 ID : 6306802603262
Status : Answered
Chosen Option : 3
Q.73 la-uuizil 53 UgHs sl YRLatll YAUSis-il UL Ad1?
Ans X 1. slold diHisuSs
o 2. 21
X 3.dls
X 4. 2R
Question ID : 630680664888
Option 11D : 6306802603151
Option 21D : 6306802603148
Option 31D : 6306802603150
Option 41D : 6306802603149
Status : Answered
Chosen Option : 3
Q.74 34 WU 4 EARRMI 2T 241891 50 251 R el 8Riddl 36,428 SuMl 244
500 1Y Rlct oF-1o9 (el net-tixll A41E uesl A Ulos-il 411 ‘model tribal’ auadl a3
(@suiaal wi2 s 52 @ B,
Ans X 1. dgudl cieldl (Minority Affairs)
25 2. a8 [@st (Urban Development)
25 3. siuel 4 - (Law & Justice)
o 4. (A cleidl (Tribal Affairs)
Question ID : 630680664897
Option 11D : 6306802603186
Option 21D : 6306802603184
Option 31D : 6306802603187
Option 41D : 6306802603185
Status : Answered
Chosen Option : 4




Q.75 ©lq (St Al H(Serl-i et VEFRuH, 20050 seu 8 S50, Yatl AEsIRA2AA s

0.
Ans X 1.24(ds (Unethical)
< 2. ds(cus (Optional)
75 3. 3RsuER (lllegal)

o 4. 5%l (Mandatory)

Question ID : 630680664902
Option 1 ID : 6306802603205
Option 2 ID : 6306802603204
Option 31D : 6306802603207
Option 4 ID : 6306802603206
Status : Answered
Chosen Option : 4
Q.76 (5w sle-t y3uli-ll T201 HAUUE DBURR SR UAM HSAl BUIAR ei-]l.
Ans o 1. -yoila-sl
X 2. (Gl
< 3. Broued
X 4. 2@
Question ID : 630680664876
Option 11D : 6306802603102
Option 21D : 6306802603100
Option 31D : 6306802603103
Option 41D : 6306802603101
Status : Answered
Chosen Option : 1
Q.77 2023 =il 23 53A4 HIRA 20154 AYsel AZAeL-AL AGY £2ll g1 2030 Vioy-si-l G213
Bl 2419l 2516 [@st el (SDG) uR 4 e daey 8.
Ans X 1.167,105
X 2.172,130
o 3.192,120
X 4.182,97
Question ID : 630680664886
Option 1 ID : 6306802603140
Option 2 ID : 6306802603143
Option 3 ID : 6306802603141
Option 4 ID : 6306802603142
Status : Answered

Chosen Option : 3




Q.78

BRAHY AlUHL- AR 53 B,

2 viLoflsat-l Y- & o3 ydlu Guiseoiel URIES HeRUPRHI AWA AL Well-iL

a

Ans ¢ 1.2d (Al (EI Nino)
< 2. dl--L (La Nina)
X 3.yl (Tsunami)
25 4. *y2d (Neutral)
Question ID : 630680664894
Option 1 ID : 6306802603174
Option 2 ID : 6306802603172
Option 3 ID : 6306802603175
Option 4 ID : 6306802603173
Status : Answered
Chosen Option : 1
Q.79 A 1CC des U 2023 -l edl-s VAR dF (Yl scAML il .
Ans X 1.2 5%
X 2.01dR Ris
25 3. 2UYSHIA VRIAL
o 4. S vl
Question ID : 630680664922
Option 11D : 6306802603285
Option 21D : 6306802603286
Option 31D : 6306802603287
Option 4 ID : 6306802603284
Status : Not Answered
Chosen Option : --
Q.80 -la-uniall sy (it Alse-Al ‘Azl det Ulos-i-il 1es (e111) -2l?
Ans X 1. a5 gud el
< 2. AR IYs
25 3. Gooyadl
o 4. AR Beldd
Question ID : 630680664901
Option 11D : 6306802603202
Option 2 ID : 6306802603201
Option 31D : 6306802603200
Option 4 ID : 6306802603203
Status : Answered
Chosen Option: 3




Comprehension:

AR 5520 ciAl 444 Al Al AAL Fetier 41

TFH AL ARPLR HIZ BrlR 4 Ulelel S & dH Rl BAUAE HIZ UUS, 09\t 44 Sell I 8; il
HiUdl gARUM ol 8. R & widd (AL A1 et Asell A2ll A e9ctizl 2 Sl AR o5 MBI 2 418
ol el 8. d % UHIGL AUS, A2t 24 set (AL 2y AU Slel e9eti, AU A Rette] A AST
A, AR 24 Uietdd 2 AL 245 4191 B URL v 4191 ell. 2sel AR 24 vietd SI8 2418\ A
A8, A B d {2 (BAR 24 widdy Hsd 8. A2l 2 getie] 2w 8. sl dl -l ARPIR S o AA
8. AUSe, Aol 2 sell A AR Useflont-il URHFEA B, 215 g2oll 8. Bm-AL URUR AssRA -t UK
(U 24 YalRid B.

SubQuestion No : 81

Q.81 ‘ASU’ 2Ace-l [Qegtadl el

Ans

o 1. vaAsU
72X 2. et
X 3. [Fruat
X 4. defAd

Question ID : 630680665411
Option 11D : 6306802605223
Option 2 ID : 6306802605221
Option 3 1D : 6306802605220
Option 4 ID : 6306802605222
Status : Answered
Chosen Option: 1

Comprehension:

Al §53A dial 244 Al AAAmSAL Tselo] A1)

a3 AL ARPUR HIZ BAIR 24 Uledel S1U 8 dH TcteA-tl Al HI2 AUS e, G20 1 sl iU B; Al
Hirdell g e 8. [B1R & uletd (At A1) odll Ascll 2l AAH i 2 Sl AR o AR 2 A1)
ol ddl 8. d % UHIGL AUS, Ad{d 24 56l (AL Fag) A Slall 9, UL 2 et A AS]
A, AR 2 Uietel B AL 2455 4191 B UQL v ¢419L 2], Bsell AR 2 uietd s18 2418\ A
A5, AL B d HI2 BAR 4 wida Hswd 8. A1l 2 etie] 2 V. sl dl el AQPIR RS o5 A
8, AUScY, A0 2 setl 2 AGU 2sollopt-l RHERL 8, s géoll 8. AL RUR AssRA e U
R 24 YR B.

SubQuestion No : 82

Q.82 g5+l dwgadl [Q1R sui 8?7

Ans

X 1. A wead Hst
25 2. @i wedq He
X 3. a-Hi A8l Hsw

o 4. A AUS, A 21 5l Hsa

Question ID : 630680665408
Option 11D : 6306802605211
Option 2 ID : 6306802605210
Option 31D : 6306802605209
Option 4 ID : 6306802605208
Status : Answered
Chosen Option : 4




Comprehension:

AR 5520 ciAl 444 Al Al AAL Fetier 41

TFH AL ARPLR HIZ BrlR 4 Ulelel S & dH Rl BAUAE HIZ UUS, 09\t 44 Sell I 8; il
HiUdl gARUM ol 8. R & widd (AL A1 et Asell A2ll A e9ctizl 2 Sl AR o5 MBI 2 418
ol el 8. d % UHIGL AUS, A2t 24 set (AL 2y AU Slel e9eti, AU A Rette] A AST
A, AR 24 Uietdd 2 AL 245 4191 B URL v 4191 ell. 2sel AR 24 vietd SI8 2418\ A
A8, A B d {2 (BAR 24 wiedy Hsd 8. A2l 2 getie] AU B. sl dl -l ARPIR S o AA
8. AUSe, Aol 2 sell A AR Useflont-il URHFEA B, 215 g2oll 8. Bm-AL URUR AssRA -t UK
(U 24 YalRid B.

SubQuestion No : 83

Q.83 ‘iisHs’ ol Am-l el

Ans X 1. %ReL
X 2.Yus
X 3.
o 4. lss
Question ID : 630680665412
Option 1 ID : 6306802605227
Option 2 ID : 6306802605225
Option 31D : 6306802605226
Option 4 ID : 6306802605224
Status : Answered
Chosen Option : 4
Comprehension:
Al §53A dial 244 Al AAAmSAL Tselo] A1)
a3 AL ARPUR HIZ BAIR 24 Uledel S1U 8 dH TcteA-tl Al HI2 AUS e, G20 1 sl iU B; Al
Hiddtl gl ol 8. (1R & widd (AL A1) ot-dl 2Ascll Hell i eactinl 2 el AR o 24U L 1 418
ol ddl 8. d % UHIGL AUS, Ad{d 24 56l (AL Fag) A Slall 9, UL 2 et A AS]
A, AR 2 Uietel B AL 2455 4191 B UQL v ¢419L 2], Bsell AR 2 uietd s18 2418\ A
A5, AL B d HI2 BAR 4 wida Hswd 8. A1l 2 etie] 2 V. sl dl el AQPIR RS o5 A
8, AUScY, A0 2 setl 2 AGU 2sollopt-l RHERL 8, s géoll 8. AL RUR AssRA e U
R 24 YR B.
SubQuestion No : 84
Q.84 g5+l Azl sUl AU dHA Giu all 87
Ans X 1. AL ALRPIR HI2 (IR 244 uletd siu 8.
o 2. AUSY, Ad0d 2 sel A5 URARAL B,
X3, URUR Ass Rl @ydA UM HEQNU 2 YR B.
75 4. BAR 1 wid s18 2018\ A 215,
Question ID : 630680665410
Option 11D : 6306802605217
Option 21D : 6306802605218
Option 31D : 6306802605216
Option 41D : 6306802605219
Status : Answered
Chosen Option: 3




Comprehension:

AR 5520 il 444 Al Al AAL Fetier 41

TFH AL ARPLR HIZ BrlR 4 Ulelel S & dH Rl BAAE HIZ UUS, 09t 44 Sell i 8; il
HrUdl gARUM ol 8. 1R & widd (AL A1) et Asell A2ll A e9ctizl 2 Sl AR o5 2B 2 418
ol el 8. d % UHIGL AUUS, A2t 24 et (AL 2y AU Slel e9eti, AU A Rette] A AST
A, AR 24 Uietdd 2 AL 24U o491 B URL v 4191 ell. Asel AR 24 vietd S18 2418\ A
A8, A B d {2 (BAR 24 widdg Hesd 8. A18\2l 2 getiel AU 8. sl dl -l ARPIR dAS o AN
8. AUSe, Aol 2 sell A AR Useflont-il URHFEA B, 215 g2oll B. AL URUR AssRA -t UK
(U 24 YalRid .

SubQuestion No : 85
Q.85 RYcl-i-ll AR HI2 g A ?
Ans X 1. udsRl
o 2. 5¢l
X 3.0m
X 453

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680665409
6306802605214
6306802605213
6306802605212
6306802605215
Answered

2

Comprehension:

Read the passage carefully and answer the given questions.

Agatha Christie is an English detective novelist and playwright whose books have sold more
than 100 million copies and have been translated into some 100 languages. Educated at
home by her mother, Christie began writing detective fiction while working as a nurse during
World War 1. Her first novel, The Mysterious Affair at Styles (1920), introduced Hercule Poirot,
her eccentric and egotistic Belgian detective; Poirot reappeared in about 25 novels and many
short stories before returning to Styles, where, in Curtain (1975), he died. The elderly spinster
Miss Jane Marple, her other principal detective figure, first appeared in Murder at the Vicarage
(1930). Christie’s first major recognition came with The Murder of Roger Ackroyd (1926),
which was followed by some 75 novels that usually made best-seller lists and were serialized
in popular magazines in England and the United States. Christie’s plays included The
Mousetrap (1952), which set a world record for the longest continuous run at one theatre and
Witness for the Prosecution (1953).

SubQuestion No : 86
Q.86 Choose the correct synonym of the word, ‘egotistic’ as used in the passage.
Ans  # 1. Proud

X 2. Shy
X 3. Demure
% 4. Timid

Option 11D

Option 4 1D

Chosen Option

Question ID :
: 6306802605493
Option 21D :
Option 31D :
: 6306802605492
Status :
03

630680665483

6306802605495
6306802605494

Answered




Comprehension:
Read the passage carefully and answer the given questions.

Agatha Christie is an English detective novelist and playwright whose books have sold more
than 100 million copies and have been translated into some 100 languages. Educated at
home by her mother, Christie began writing detective fiction while working as a nurse during
World War I. Her first novel, The Mysterious Affair at Styles (1920), introduced Hercule Poirot,
her eccentric and egotistic Belgian detective; Poirot reappeared in about 25 novels and many
short stories before returning to Styles, where, in Curtain (1975), he died. The elderly spinster
Miss Jane Marple, her other principal detective figure, first appeared in Murder at the Vicarage
(1930). Christie’s first major recognition came with The Murder of Roger Ackroyd (1926),
which was followed by some 75 novels that usually made best-seller lists and were serialized
in popular magazines in England and the United States. Christie’s plays included The
Mousetrap (1952), which set a world record for the longest continuous run at one theatre and
Witness for the Prosecution (1953).

SubQuestion No : 87

Q.87 ldentify the central theme of the passage.

Ans

< 1. The rise of mystery dramas
75 2. Magazines in England
" 3. Agatha Chistie's oeuvre

5 4. The popularity of suspense in England

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680665479
6306802605479
6306802605477
6306802605478
6306802605476
Answered

3

Comprehension:

Read the passage carefully and answer the given questions.

Agatha Christie is an English detective novelist and playwright whose books have sold more
than 100 million copies and have been translated into some 100 languages. Educated at
home by her mother, Christie began writing detective fiction while working as a nurse during
World War 1. Her first novel, The Mysterious Affair at Styles (1920), introduced Hercule Poirot,
her eccentric and egotistic Belgian detective; Poirot reappeared in about 25 novels and many
short stories before returning to Styles, where, in Curtain (1975), he died. The elderly spinster
Miss Jane Marple, her other principal detective figure, first appeared in Murder at the Vicarage
(1930). Christie’s first major recognition came with The Murder of Roger Ackroyd (1926),
which was followed by some 75 novels that usually made best-seller lists and were serialized
in popular magazines in England and the United States. Christie’s plays included The
Mousetrap (1952), which set a world record for the longest continuous run at one theatre and
Witness for the Prosecution (1953).

SubQuestion No : 88

Q.88 Which of the following in not true?

Ans

" 1. Chistie couldn't go to school owing to the war
X 2. Miss Marple was an elderly unmarried woman
/< 3. Chistie was never sent to school

/X 4. Chistie didn't get recognition till murder of Roger Ackroyd

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680665480
6306802605480
6306802605482
6306802605483
6306802605481
Not Answered




Comprehension:
Read the passage carefully and answer the given questions.

Agatha Christie is an English detective novelist and playwright whose books have sold more
than 100 million copies and have been translated into some 100 languages. Educated at
home by her mother, Christie began writing detective fiction while working as a nurse during
World War I. Her first novel, The Mysterious Affair at Styles (1920), introduced Hercule Poirot,
her eccentric and egotistic Belgian detective; Poirot reappeared in about 25 novels and many
short stories before returning to Styles, where, in Curtain (1975), he died. The elderly spinster
Miss Jane Marple, her other principal detective figure, first appeared in Murder at the Vicarage
(1930). Christie’s first major recognition came with The Murder of Roger Ackroyd (1926),
which was followed by some 75 novels that usually made best-seller lists and were serialized
in popular magazines in England and the United States. Christie’s plays included The
Mousetrap (1952), which set a world record for the longest continuous run at one theatre and
Witness for the Prosecution (1953).

SubQuestion No : 89

Q.89 Choose the correct antonym of the word, ‘eccentric’ as used in the passage.

Ans X 1. Curious
< 2. Screwy
< 3. Weirdo
& 4. Normal
Question ID : 630680665482
Option 11D : 6306802605488
Option 2 ID : 6306802605489
Option 3 ID : 6306802605490
Option 4 ID : 6306802605491
Status : Answered
Chosen Option : 4
Comprehension:
Read the passage carefully and answer the given questions.
Agatha Christie is an English detective novelist and playwright whose books have sold more
than 100 million copies and have been translated into some 100 languages. Educated at
home by her mother, Christie began writing detective fiction while working as a nurse during
World War 1. Her first novel, The Mysterious Affair at Styles (1920), introduced Hercule Poirot,
her eccentric and egotistic Belgian detective; Poirot reappeared in about 25 novels and many
short stories before returning to Styles, where, in Curtain (1975), he died. The elderly spinster
Miss Jane Marple, her other principal detective figure, first appeared in Murder at the Vicarage
(1930). Christie’s first major recognition came with The Murder of Roger Ackroyd (1926),
which was followed by some 75 novels that usually made best-seller lists and were serialized
in popular magazines in England and the United States. Christie’s plays included The
Mousetrap (1952), which set a world record for the longest continuous run at one theatre and
Witness for the Prosecution (1953).
SubQuestion No : 90
Q.90 Choose the correct summary of the passage from the options given below.
Ans & 1. The passage gives an overview of the life and writing of Agatha Christie.
X 2. The passage gives figures and statistics explaining the sale of Agatha Christie's
books.
X 3. The passage focuses on Agatha Christie's life before becoming a writer.
/X 4. The passage explains why Christie chose to wrote on Poirot and Miss Marple.
Question ID : 630680665481
Option 11D : 6306802605484
Option 2 ID : 6306802605486
Option 3 ID : 6306802605487
Option 4 ID : 6306802605485
Status : Answered
Chosen Option : 3




Q.91 ld-uiall sl yet HivUSA 43U UR VLU RA B?
Ans X 1. sRe-S-dA

X 2. ollez 536l
o 3. Sola-2UelRd

X 4. divisHl

Question ID : 630680665152
Option 1 1D : 6306802604204
Option 2 ID : 6306802604205
Option 3 ID : 6306802604207
Option 4 ID : 6306802604206
Status : Answered
Chosen Option: 1
Q.92 survey deals with bodies of water for purpose of navigation, water supply, harbour
works or for determination of mean sea level.
Ans X 1.Mine
X 2. Land
«” 3. Marine
25 4. Astronomical
Question ID : 630680665236
Option 1 1D : 6306802604543
Option 2 ID : 6306802604540
Option 3 ID : 6306802604541
Option 4 ID : 6306802604542
Status : Answered
Chosen Option : 3
Q.93 The centre of gravity is the average location of the ____ of an object.
Ans X 1.Volume
X 2. Area
25 3. Surface area
o 4. Weight
Question ID : 630680665248
Option 1 1D : 6306802604589
Option 2 ID : 6306802604588
Option 3 ID : 6306802604591
Option 4 ID : 6306802604590
Status : Answered

Chosen Option :

1




Q.94 Which of the following is NOT an effect of water logging?
Ans X 1.Diseases

Z5 2. Diminished soil nutrients
o« 3. Proper soil aeration

#< 4. pH of the soil reduces

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680665182

6306802604327
6306802604326
6306802604324
6306802604325

Status : Answered
Chosen Option : 3

Q.95 Which of the following is NOT a type of cross-drainage system?
Ans X 1.Aqueduct

< 2. Box culvert
& 3. Subgrade drain
/5 4. Syphon aqueduct

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680665156
6306802604221
6306802604220
6306802604223
6306802604222
Answered

3

Q.96 Which of the following is the poorest form of stone masonry?
Ans X 1. Dry rubble masonry

& 2. Uncoursed rubble masonry
/X 3. Coursed rubble masonry

< 4. Random rubble masonry

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680665209
6306802604435
6306802604432
6306802604433
6306802604434
Answered

2




Q.97 Following are the main functions of stirrups.

A. Carries a portion of flexural factored shear force.
B. Restricts the growth of diagonal cracks.

C. Holds the longitudinal reinforcement bars in place.
Which of the following is/are CORRECT?

Ans # 1.A BandC
< 2.BothBandC
< 3.BothAandC
X 4.0nlyA
Question ID : 630680665177
Option 11D : 6306802604307
Option 2 ID : 6306802604306
Option 3 1D : 6306802604305
Option 4 ID : 6306802604304
Status : Answered
Chosen Option : 2
Q.98 is yd ___ -l [Fatnizil uaR e 23 8.
Ans X 1.d
& 2.1
X 3.Ar
X 4
Question ID : 630680665150
Option 11D : 6306802604199
Option 2 ID : 6306802604198
Option 3 1D : 6306802604197
Option 4 1D : 6306802604196
Status : Not Answered
Chosen Option : --
Q.99 _____ foundations are the types of foundation which are spread across the entire area of
the building to support heavy structural loads from columns and walls.
Ans X 1.Pile
¥ 2. Mat
X 3. Spread
X 4. l1solated
Question ID : 630680665221
Option 11D : 6306802604483
Option 2 ID : 6306802604480
Option 31D : 6306802604481
Option 4 1D : 6306802604482
Status : Answered
Chosen Option : 4




Q.100 The beam of a truss spanning the length of the truss is knownas _____.
Ans X 1.peak

X 2.web
o 3. top chord
< 4. bottom chord

Question ID : 630680665241
Option 11D : 6306802604563
Option 2 ID : 6306802604562
Option 3 ID : 6306802604560
Option 4 ID : 6306802604561
Status : Answered
Chosen Option : 4
Q.101 Concrete that has a density lesser than 1920kg/m3 is classified as .
Ans  # 1. Light-weight Concrete
#< 2. Polymer Concrete
25 3. Limecrete
/< 4. Rapid Strength Concrete
Question ID : 630680665217
Option 11D : 6306802604466
Option 2 ID : 6306802604465
Option 3 ID : 6306802604464
Option 4 ID : 6306802604467
Status : Answered
Chosen Option: 1
Q.102 Read the following about Extreme Weather Concreting.
A. There are two types of extreme weather condition hot and cold condition.
B. These two conditions adversely affect the concreting condition and give rise to affect the
strength of the concrete.
Identify the INCORRECT statement/statements.
Ans X 1.0nlyA
X 2.BothAandB
/X 3.0nlyB
o 4. Neither Anor B
Question ID : 630680665210
Option 1 1D : 6306802604436
Option 2 ID : 6306802604438
Option 3 ID : 6306802604437
Option 4 ID : 6306802604439
Status : Answered
Chosen Option : 4




Q.103 According to AASHTO system, the soils are classified into _____ groups.
Ans o 1. eight

X 2.seven
75 3. six
X 4. five
Question ID : 630680665225
Option 1 ID : 6306802604499
Option 2 ID : 6306802604498
Option 3 ID : 6306802604497
Option 4 ID : 6306802604496
Status : Not Answered
Chosen Option : --
Q.104 Azl sut €l ulRieagt s (river training works)- aAl-lA (groynes) U@l sécuui 2414 8?
Ans X 1.ds [URid1 (Bed pitching)
< 2.2u8Ss d-s (Guide banks)
¥ 3. U (Spurs)
< 4. Ad-si2 (Embankments)
Question ID : 630680665151
Option 11D : 6306802604203
Option 2 ID : 6306802604200
Option 3 1D : 6306802604201
Option 4 ID : 6306802604202
Status : Answered
Chosen Option : 1
Q.105 Effective length of member | effectively held in position at both ends restrained in direction
at one end should be equal to __, as per IS 456:2000.
Ans X 1.0.70L
< 2.0.60L
< 3.050L
& 4.080L
Question ID : 630680665174
Option 11D : 6306802604294
Option 2 ID : 6306802604293
Option 3 ID : 6306802604292
Option 4 ID : 6306802604295
Status : Answered
Chosen Option: 3




A. Forming impervious barriers by grouting with cement, clay suspension.
B. Chemical consolidation for controlling ground water in excavation.

C. Ground water control by compressed air.

Which of the following is/are CORRECT?

Ans X 1.BothAandB
75 2.0nly A
/< 3.BothBandC

Q.106 Following are the techniques by which ground water exclusion are obtained.

" 4. A BandC
Question ID : 630680665203
Option 11D : 6306802604409
Option 2 ID : 6306802604408
Option 3 1D : 6306802604410
Option 4 ID : 6306802604411
Status : Answered
Chosen Option : 4
Q.107 Azl 5y seiir (2L -20?
Ans X 1. cais-ldlam 2l
o 2. 2152
X 3.3sRa
X 4. 515 sellR saRal
Question ID : 630680665205
Option 11D : 6306802604417
Option 2 ID : 6306802604418
Option 3 1D : 6306802604416
Option 4 1D : 6306802604419
Status : Not Answered
Chosen Option : --
Q.108 Based on ____, the limit state method can be categorized into two types.
Ans X 1.1S 456:2001
< 2.1S 456:2003
25 3.1S 456: 2002
o 4.1S 456: 2000
Question ID : 630680665178
Option 11D : 6306802604309
Option 2 ID : 6306802604311
Option 31D : 6306802604310
Option 4 ID : 6306802604308
Status : Answered
Chosen Option : 4




Q.109 sy(Giset s-2-2 qaus (@2l NA-) cuetdl aixil.
A. sy[Clsd s-2-2 HaUs A Aed clgHioll BHIRAL M2 AU B,
B. d -y ol Haus, (-2 viRUL HAS 244 Y[A2 oloy HAs s2di ag Aile .
w2t (e [@en-is 2ilaviel.

Ans X 1.HAB
o 2. A 2dl B SIS 48l

X 3. A2ABoid

X4 HLA
Question ID : 630680665161
Option 1 ID : 6306802604241
Option 2 ID : 6306802604243
Option 3 ID : 6306802604242
Option 4 ID : 6306802604240
Status : Answered
Chosen Option : 2
Q.110 Read the following about Quality Control in construction.
A. Quality control in construction typically involves insuring compliance with minimum
standards of material and workmanship in order to insure the performance of the facility
according to the design.
B. Quality control and safety represent increasingly important concerns for project
managers.
Identify the CORRECT statement/statements.
Ans X 1.0nly A
/X 2.0nlyB
/X 3. Neither A nor B
" 4.BothAand B
Question ID : 630680665165
Option 11D : 6306802604256
Option 2 ID : 6306802604257
Option 3 ID : 6306802604259
Option 4 ID : 6306802604258
Status : Answered
Chosen Option: 3
Q.111 The mix ratio 1 : 1.5 : 3 represents which grade of concrete?
Ans X 1.M15
 2.M20
< 3.M10
X 4.M75
Question ID : 630680665216
Option 1 ID : 6306802604462
Option 2 ID : 6306802604463
Option 3 ID : 6306802604461
Option 4 1D : 6306802604460
Status : Answered
Chosen Option: 2




material due to temperature changes?
Ans  # 1. Thermal strain

< 2. Tensile strain
25 3. Normal strain
/5 4. Shear strain

Q.112 Which of the following types of strains refer to the deformation or change in the size of a

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

: 630680665250

: 6306802604597
: 6306802604599
: 6306802604596
: 6306802604598

Status : Answered

Chosen Option :

1

Q.113 Which of the following is a moisture content test on soil?
Ans X 1. Density bottle method

& 2. Calcium carbide test
#< 3. Shrinkage limit method
/X 4. Gas jar method

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680665224
6306802604493
6306802604492
6306802604495
6306802604494
Answered

2

Q.114

tender system.
Ans X 1.0pen

25 2. Negotiation
¥ 3. Selective
/< 4. Closed

tendering is an option that has been created to address the limitations of the open

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680665167
6306802604264
6306802604267
6306802604265
6306802604266
Answered

3




Ans  # 1.1.15

Q.115 As per the Limit State Method, the value of partial safety factor of steelis ___.

X 2.1.25
% 3.1.05
X 4.1.35
Question ID : 630680665175
Option 1 ID : 6306802604297
Option 2 ID : 6306802604298
Option 3 ID : 6306802604296
Option 4 ID : 6306802604299
Status : Answered
Chosen Option : 1
Q.116 A2l 5UL USSR A1 FURA A 52l ay os (e §2u 9y 53 6?
Ans X 1. AUHISL A1 (Symmetric bending)
o 2. 2[R A1 (Non-uniform bending)
75 3. Y i (Pure bending)
X 4. 28 14 (Unsymmetric bending)
Question ID : 630680665243
Option 11D : 6306802604568
Option 2 ID : 6306802604571
Option 31D : 6306802604569
Option 41D : 6306802604570
Status : Answered
Chosen Option : 3
Q.117 The length of Gunter's chain is
Ans X 1.55ft
X 2,77 ft
X 3.44ft
o 4.66 ft
Question ID : 630680665233
Option 1 ID : 6306802604529
Option 2 ID : 6306802604531
Option 3 ID : 6306802604528
Option 4 ID : 6306802604530
Status : Answered
Chosen Option : 4




organisms consolidated and cemented together?
Ans X 1.Trap

< 2. Granite

¥ 3. Limestone

Q.118 Which of the following is a sedimentary rock formed by remnants of seaweeds and living

/< 4. Basalt
Question ID : 630680665262
Option 11D : 6306802604646
Option 2 ID : 6306802604647
Option 31D : 6306802604645
Option 4 1D : 6306802604644
Status : Answered
Chosen Option: 1
Q.119 Which of the following is the first step in the construction of columns?
Ans X 1. Pouring of concrete
" 2. Column layouts
#< 3. Column formwork
#X 4. Column reinforcement work
Question ID : 630680665176
Option 11D : 6306802604303
Option 2 ID : 6306802604300
Option 3 1D : 6306802604302
Option 4 1D : 6306802604301
Status : Answered
Chosen Option : 2
Q.120 Read the following about Rankine's theory of Earth Pressure.
A. According to Rankine's theory, there is no wall friction and the ground and failure
surfaces are straight planes, and the resultant force acts parallel to the backfill slope.
B. The earth retained may be filled up earth or natural soil in case of retaining structures.
Identify the CORRECT statement/statements.
Ans " 1.BothAandB
/< 2.0nly B
< 3. Neither A nor B
X 4.0nlyA
Question ID : 630680665222
Option 11D : 6306802604486
Option 2 ID : 6306802604485
Option 3 1D : 6306802604487
Option 4 1D : 6306802604484
Status : Answered
Chosen Option: 1




Q.121 vt éll R 1+l Al .
Ans o 1.dl

K 2.UR

5031

X4 uin

Question ID : 630680665197
Option 11D : 6306802604384
Option 2 ID : 6306802604386
Option 3 1D : 6306802604385
Option 4 ID : 6306802604387
Status : Not Answered
Chosen Option : --

Q.122 Which of the following types of friction is defined as the frictional force that acts between
the surfaces when they are at rest with respect to each other?

Ans X 1.Fluid friction
#5 2. Sliding friction
o 3. Static friction
#< 4. Rolling friction

Question ID : 630680665246
Option 11D : 6306802604582
Option 2 ID : 6306802604583
Option 3 1D : 6306802604580
Option 4 ID : 6306802604581
Status : Answered
Chosen Option : 3

Q.123

in plate girders are used to increase structural capacity and prevent local buckling
failures.

Ans X 1.Flanges
o 2. Stiffeners
X 3.Web
/X 4. Splices

Question ID : 630680665172

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

6306802604285
6306802604286
6306802604284
6306802604287
Answered

2




Q.124 Read the following about plane frames.

A. If the members of the frame all lie on a single plane, then we call it a plane frame.
B. The connection joints may be rigid (moment-resisting) or flexible.

Identify the CORRECT statement/statements.
Ans X 1.0nlyA

#5 2. Neither A nor B
«” 3.BothAand B

/< 4.0nly B
Question ID : 630680665239
Option 1 ID : 6306802604552
Option 2 ID : 6306802604555
Option 3 ID : 6306802604554
Option 4 ID : 6306802604553
Status : Answered
Chosen Option : 3
Q.125 §1G-32l-l USRI URAea sl HI2 Ui At URAAT Al Yosol B.
A. SHRA] M.
B. A%®sui 2Alddl Wil USIR.
C. ol Rald.
D. Guuiai dettefl clietsi-l AL UsR.
A=l 53 AR] B?
Ans & 1.A B ,Cu4D
K 2. HLA
X 3. A2AB il
X 4.ACuAD
Question ID : 630680665220
Option 1 ID : 6306802604479
Option 2 ID : 6306802604476
Option 3 ID : 6306802604477
Option 4 ID : 6306802604478
Status : Answered

Chosen Option :

1




Ans

of pipes under low pressure?
#< 1. Surface Irrigation

o 2. Localized Irrigation
25 3. Drip Irrigation
/5 4. Sprinkler Irrigation

Q.126 In which of the following types of irrigation water is applied to each plant through a network

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

: 630680665183

1 6306802604328
: 6306802604330
1 6306802604331
: 6306802604329

Status : Answered
Chosen Option: 3

Ans

&" 1. Cohesion
X 2. Permeability

75 3. Angle of Internal Friction

Q.127 Which of the following properties of soil is the internal molecular attraction which resists
the rupture or shear of a material?

< 4. Capillarity
Question ID : 630680665226
Option 1 ID : 6306802604501
Option 2 ID : 6306802604503
Option 3 ID : 6306802604502
Option 4 ID : 6306802604500

Status : Answered
Chosen Option : 1
Q.128 Which of the following types of gravity dams sits in the middle of an embankment dam and
a concrete dam?
Ans X 1.Low dam

" 2. Composite dam

/X 3. Straight dam

X 4. Curved dam
Question ID : 630680665179
Option 11D : 6306802604315
Option 2 ID : 6306802604313
Option 3 1D : 6306802604312
Option 4 ID : 6306802604314

Status : Answered
Chosen Option: 2




Q.129 Maximum gross intensity of loading that the soil can safely carry with adequate safety

Chosen Option :

against failure in shear is called the of soil.
Ans X 1.Ultimate Bearing Capacity
5 2. Net Safe Bearing Capacity
& 3. Gross Safe Bearing Capacity
/5 4. Net Ultimate Bearing capacity
Question ID : 630680665219
Option 11D : 6306802604475
Option 2 ID : 6306802604473
Option 31D : 6306802604472
Option 4 1D : 6306802604474
Status : Answered
Chosen Option: 1
Q.130 Bulk Modulus may be defined as the ratio of normal stress to strain.
Ans X 1.tensile
X 2. longitudinal
&" 3. volumetric
X 4. shear
Question ID : 630680665253
Option 11D : 6306802604611
Option 2 ID : 6306802604610
Option 31D : 6306802604609
Option 4 1D : 6306802604608
Status : Answered
Chosen Option : 3
Q.131 One of most important monuments of Gujarat, is said to be the first of Lord Shiva’s
twelve Jyotirlinga shrines.
Ans " 1. Somnath temple
< 2. Uperkot fort
25 3. Jagat temple
5 4.Sun temple
Question ID : 630680665149
Option 11D : 6306802604192
Option 2 ID : 6306802604195
Option 31D : 6306802604193
Option 4 1D : 6306802604194
Status : Answered

1




Q.132 Which of the following is an electronic / optical instrument used in modern surveying?

Ans

/< 1. Compass
< 2. Chain

o 3. Total station

X 4. Tape
Question ID : 630680665234
Option 1 ID : 6306802604532
Option 2 ID : 6306802604533
Option 3 ID : 6306802604534
Option 4 ID : 6306802604535

Status : Answered
Chosen Option: 3
Q.133 As per IS specifications, bricks of ____ height as well as those made by extrusion process
may not be provided with frogs.
Ans 4 1.40mm

X 2.20mm

< 3.10mm

X 4.30mm
Question ID : 630680665255
Option 11D : 6306802604619
Option 2 ID : 6306802604617
Option 3 1D : 6306802604616
Option 4 ID : 6306802604618

Status : Answered
Chosen Option : 1

Q.134 Read the following about Budget estimation.
A. Budget estimation is the process of estimating how much money a company will need in

Ans

order to meet its financial goals over a specific period of time.
B. It involves taking into account a variety of factors, including revenue, expenses, and
liabilities.
Identify the CORRECT statement/statements.
X 1.0nlyA

/5 2. Neither A nor B
" 3.BothAandB

X 4.0nlyB

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680665163
6306802604248
6306802604251
6306802604250
6306802604249
Answered

3




Q.135 ____is a horizontal element that forms the upper surface of a step on which one places
one’s foot.

Ans X 1.Nosing
#< 2. Landing
o 3. Tread
/X 4. Rise

Question ID : 630680665206
Option 11D : 6306802604422
Option 2 ID : 6306802604423
Option 3 1D : 6306802604420
Option 4 ID : 6306802604421
Status : Answered
Chosen Option: 3

Q.136 Which of the following is an optional layer in pavements?
Ans X 1.Subgrade

" 2. Sub-base

/< 3. Surface

/X 4.Base
Question ID : 630680665154
Option 11D : 6306802604215
Option 2 1D : 6306802604213
Option 3 1D : 6306802604214
Option 4 ID : 6306802604212

Status : Answered
Chosen Option : 2
Q.137 is ordinary rubble masonry without mortar.

Ans X 1.Coursed rubble masonry
#5 2. Random rubble masonry
o 3. Dry rubble masonry

#< 4. Uncoursed rubble masonry

Question ID : 630680665208
Option 11D : 6306802604429
Option 2 ID : 6306802604430
Option 3 1D : 6306802604431
Option 4 ID : 6306802604428
Status : Answered
Chosen Option : 3




Q.138
Ans

Z< 1. Rotary Boring
" 2. Wash Boring
#< 3. Shell Boring

25 4. Percussion Boring

method of soil exploration is a quick and easy way to drill holes in the earth.

Question ID : 630680665227
Option 1 ID : 6306802604507
Option 2 ID : 6306802604504
Option 3 ID : 6306802604505
Option 4 ID : 6306802604506
Status : Answered
Chosen Option : 2
Q.139 Grade | of Fly ash is derived from bituminous coal having fractions SiO,+Al,0;+Fe,03
greater
A
v 70%
X 2. 60%
X 3. 80%
X 4. 50%
Question ID : 630680665267
Option 11D : 6306802604667
Option 2 ID : 6306802604665
Option 3 ID : 6306802604666
Option 4 ID : 6306802604664
Status : Answered

Chosen Option :

1

Q.140 Moment of Inertia is the property of the rotational bodies which tends to oppose the change

Ans

in

¥ 1. rotational
X 2. linear
X 3. uniform

/X 4. translational

motion of the body.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680665247
6306802604585
6306802604584
6306802604587
6306802604586
Answered

4




Q.141 IS 456-2000 ¥oxei, silE24 OPC H12 7 (B2l 24ieot Anui 24 vilAow AqF=EL 22 FEid

Chosen Option :

Rui-2 12d-u silse w2 (Ea2ll 2ile1 AHuUi ustag oisdl A8l
Ans ¥ 1.10
X 2.8
< 3.9
X 411
Question ID : 630680665214
Option 1 ID : 6306802604454
Option 2 ID : 6306802604452
Option 31D : 6306802604453
Option 4 ID : 6306802604455
Status : Answered
Chosen Option : 1
Q.142 23t 243+l watlei-dl [E2ui-L 203, Gl (surges)- Yvucd usRUi a2{lgd saAWi 21d 8.
Ans X 1.uix
o 2.4
X 3 AR
X 4.1
Question ID : 630680665196
Option 11D : 6306802604380
Option 2 ID : 6306802604383
Option 3 ID : 6306802604381
Option 4 ID : 6306802604382
Status : Not Answered
Chosen Option : --
Q.143 Which of the following is NOT a dynamic pressure pump?
Ans X 1.Turbine
" 2. Piston
/< 3. Centrifugal
5 4. Propeller
Question ID : 630680665195
Option 1 ID : 6306802604379
Option 2 ID : 6306802604378
Option 31D : 6306802604376
Option 4 ID : 6306802604377
Status : Not Answered




Q.144 An

contains and transmits groundwater.

is a geological formation or a porous and permeable layer of rock or sediment that

Chosen Option :

Ans X 1.drawdown
< 2. aquifuge
& 3. aquifer
/X 4. aquiclude
Question ID : 630680665189
Option 1 1D : 6306802604355
Option 2 ID : 6306802604354
Option 3 ID : 6306802604352
Option 4 ID : 6306802604353
Status : Answered
Chosen Option: 3
Q.145 Read the following about the difference between plane stress and plane strain.
A. Plane strain is a precise solution, whereas plane stress is an approximation.
B. In contrast to plane stress, which only manifests when the thickness of the laden body
approaches zero, plane strain is a specific solution to the whole set of three-dimensional
elasticity equations.
Identify the CORRECT statement/statements.
Ans X 1.0nlyB
75 2.0nly A
< 3. Neither A nor B
" 4.BothAand B
Question ID : 630680665251
Option 11D : 6306802604601
Option 2 ID : 6306802604600
Option 3 ID : 6306802604603
Option 4 ID : 6306802604602
Status : Answered
Chosen Option : 4
Q.146 There are type of methods for setting out simple circular curves based on the
instrument used in method.
Ans X 1.Five
< 2. Three
o 3. Two
X 4. Four
Question ID : 630680665228
Option 1 1D : 6306802604508
Option 2 ID : 6306802604510
Option 3 ID : 6306802604511
Option 4 1D : 6306802604509
Status : Not Answered




Q.147

refer to the temporary permeable structures that are provided at the curve of a river
for protecting the bank of the river bank from eroding.

Chosen Option :

Ans 4 1.Spurs
75 2. Dykes
25 3. Guide banks
X 4. Levees
Question ID : 630680665185
Option 11D : 6306802604337
Option 2 ID : 6306802604338
Option 3 ID : 6306802604336
Option 4 ID : 6306802604339
Status : Answered
Chosen Option: 3
Q.148 Sloping roof is also known as
Ans X 1. Hip roof
X 2. Gable roof
&" 3. Pitched roof
X 4. Gambrel roof
Question ID : 630680665207
Option 11D : 6306802604426
Option 2 ID : 6306802604424
Option 3 ID : 6306802604425
Option 4 ID : 6306802604427
Status : Answered
Chosen Option : 3
Q.149 Core of an earthen dam is also known as
Ans X 1.Casing
" 2. Hearting
75 3. Outlet
X 4. Foundation
Question ID : 630680665181
Option 11D : 6306802604321
Option 2 ID : 6306802604323
Option 3 ID : 6306802604322
Option 4 ID : 6306802604320
Status : Answered

1




Ans

Q.150 Following are the assumptions of Darcy's law.

A. Soil is fully saturated.

B. Flow through soil is laminar.

C. Entire cross sectional area is available for flow.
Which of the following is/are CORRECT?

« 1.A/BandC

< 2.BothAandC
/< 3.BothBandC
/X 4.BothAandB

Question ID : 630680665223
Option 11D : 6306802604491
Option 2 ID : 6306802604489
Option 3 1D : 6306802604490
Option 4 1D : 6306802604488
Status : Answered
Chosen Option: 1
Q.151 Read the following about the analysis of determinate structures.
A. A statically determinate structure is the one in which reactions and internal forces can be
determined solely from free-body diagrams and equations of equilibrium.
B. It should be noted that the results of analysis are independent of the material from which
the structure has been fabricated.
Identify the CORRECT statement/statements.
Ans " 1.BothAandB
/< 2.0nlyB
#< 3. Neither A nor B
X 4.0nlyA
Question ID : 630680665242
Option 11D : 6306802604566
Option 2 ID : 6306802604565
Option 31D : 6306802604567
Option 4 1D : 6306802604564
Status : Answered
Chosen Option: 1
Q.152 Which of the following flow measurement devices is used to measure discharge?
Ans X 1. Manometer
/5 2. Prandtl Tube
& 3. Orifice meter
X 4. Pitot tube
Question ID : 630680665199
Option 1 1D : 6306802604394
Option 2 ID : 6306802604393
Option 31D : 6306802604395
Option 4 1D : 6306802604392
Status : Answered
Chosen Option: 3




Q.153 Which of the following should be the first step after rate analysis?
Ans X 1. Preparation of BOQ

" 2. Quantity Survey
/< 3. Estimation

#5 4. Preparation of tender document

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680665158
6306802604230
6306802604228
6306802604229
6306802604231
Answered

1

Q.154 Which of the following type of lime is also known as lean lime?
Ans o 1. Poorlime

#< 2.Rich lime
< 3. Fat lime
#5 4. Hydraulic lime

Question ID : 630680665261
Option 11D : 6306802604640
Option 2 ID : 6306802604642
Option 31D : 6306802604643
Option 4 ID : 6306802604641
Status : Answered
Chosen Option : 4
Q.155 osa(@gyd asouidi-it [Qle Sql (€@ 13 yowel aiail.
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Question ID : 630680665187
Option 1 ID : 6306802604345
Option 2 ID : 6306802604347
Option 31D : 6306802604344
Option 4 ID : 6306802604346
Status : Answered
Chosen Option : 4




Q.156 The maximum deflection position is found by equating the slope equationto ___.

Ans X 1.2
X 2.1
< 3.3
o 4.0
Question ID : 630680665238
Option 1 1D : 6306802604550
Option 2 ID : 6306802604549
Option 3 1D : 6306802604551
Option 4 ID : 6306802604548
Status : Answered
Chosen Option : 2
Q.157 When the deforming force or applied force acts from all dimensions resulting in the change
of volume of the object then such stress is called
Ans X 1.Normal stress
/X 2. Compressive stress
o" 3. Bulk stress
X 4. Tensile stress
Question ID : 630680665245
Option 11D : 6306802604576
Option 2 ID : 6306802604578
Option 31D : 6306802604579
Option 4 1D : 6306802604577
Status : Answered
Chosen Option : 3
Q.158 A flow net is a graphical representation of the flow of groundwater through a porous
medium, such as soil or rock. It consists of a network of flow lines and equipotential lines
that intersect each other at angles.
Ans o 1.right
/X 2. straight
X 3.obtuse
X 4. acute
Question ID : 630680665198
Option 11D : 6306802604389
Option 2 1D : 6306802604391
Option 31D : 6306802604388
Option 4 1D : 6306802604390
Status : Answered
Chosen Option : 1




Ans

Q.159 Following are various causes of stress in materials:

A. Applied loads cause stresses in materials.

B. Changes in temperature can cause stress in materials if one part of the material is free to

expand or contract in response to a temperature change, while another part of it is

constrained from moving.

C. Materials that are sensitive to moisture, such as wood or paper, can experience stress if

they absorb or release moisture too quickly.
Which of the following is/are CORRECT?

/< 1.BothBandC
w 2.A,BandC
X 3.0nlyA

/X 4.BothAandB

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680665252
6306802604606
6306802604607
6306802604604
6306802604605
Answered

2

Ans

flatten soil surface through scrapping?
X 1. Trenchers

/< 2. Bulldozers
75 3. Graders
" 4. Wheel Tractor Scrapers

Q.160 Which of the following construction equipment are earth moving equipment used to provide

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680665169
6306802604275
6306802604273
6306802604272
6306802604274
Answered

1

Ans

Q.161 PERT is an acronym that stands for program evaluation and review ____.

Z< 1. tradition
¥ 2. technique
< 3. technicality
X 4. tool

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680665168
6306802604269
6306802604270
6306802604271
6306802604268
Answered

2




Q.162 Which of the following is a Rotary pump?
Ans 1. Vane

/X 2. Centrifugal
75 3. Propeller
< 4. Piston

Question ID : 630680665194
Option 11D : 6306802604375
Option 2 ID : 6306802604374
Option 3 1D : 6306802604372
Option 4 1D : 6306802604373
Status : Answered
Chosen Option: 2

Q.163 If the aggregates are submerged underwater for 24 hours, the water content should not
exceed .

Ans  # 1.10%
< 2.30%
X 3.20%
X 4.40%

Question ID : 630680665213
Option 11D : 6306802604448
Option 2 ID : 6306802604450
Option 3 1D : 6306802604449
Option 4 ID : 6306802604451
Status : Answered
Chosen Option : 3

Q.164 Which of the following historical monuments of Gujarat is called the marvel of Chalukya
dynasty?

Ans X 1. Somnath temple
< 2. Uperkot fort
" 3. Sun temple

/X 4. Jagat temple

Question ID : 630680665148
Option 11D : 6306802604190
Option 2 ID : 6306802604191
Option 31D : 6306802604189
Option 4 ID : 6306802604188
Status : Answered
Chosen Option : 3




Q.165 For every work proposed to be carried out, except petty repairs the cost of which is not
likely to exceed Rs.____, and annual repairs for which a lump sum provision has been
sanctioned by the Superintending Engineer, a properly detailed estimate must be prepared
for the sanction of competent authority; this sanction is known as the technical sanction to
the estimate.

Ans o 1.2500
< 2.1500
< 3.3500
X 4.4500
Question ID : 630680665164
Option 1 1D : 6306802604253
Option 2 ID : 6306802604252
Option 3 ID : 6306802604254
Option 4 ID : 6306802604255
Status : Answered
Chosen Option: 1
Q.166 survey offers the surveyor means of determining the absolute location of any point or
the absolute location of and direction of any line on the surface of the earth.
Ans X 1.Mine
#5 2. Chain
o« 3. Astronomical
X 4. Marine
Question ID : 630680665235
Option 11D : 6306802604537
Option 2 ID : 6306802604538
Option 3 ID : 6306802604539
Option 4 ID : 6306802604536
Status : Answered
Chosen Option : 3
Q.167 For a GPS to calculate a 2-D position, which includes the latitude and longitude, a minimum
of satellites are required.
Ans X 1.5
o 2.3
X 3.4
X 4.2
Question ID : 630680665231
Option 11D : 6306802604520
Option 2 ID : 6306802604522
Option 3 1D : 6306802604521
Option 4 ID : 6306802604523
Status : Answered
Chosen Option: 2




Q.168 In estimate, the total wall length of the structure is measured and this length is
multiplied by the rate per running meter which gives the cost of the building.

Ans X 1.plinth area cost
#< 2. cube rate cost
/5 3. preliminary cost
& 4. approximate quantity method cost
Question ID : 630680665162
Option 11D : 6306802604246
Option 2 ID : 6306802604245
Option 3 ID : 6306802604247
Option 4 ID : 6306802604244
Status : Answered
Chosen Option: 1
Q.169 is defined as the ratio of mass per unit volume.
Ans X 1.Surface tension
X 2. Specific weight
" 3. Density
X 4. Weight density
Question ID : 630680665200
Option 11D : 6306802604397
Option 2 ID : 6306802604396
Option 31D : 6306802604398
Option 4 ID : 6306802604399
Status : Answered
Chosen Option : 3
Q.170 Final Setting Time is defined as the period elapsing between the time when water is added
to cement and the time at which the needle of ____ square section with 5 mm diameter
attachment makes an impression on the test block.
Ans 1.7 mm
X 2.4mm
X 3.2mm
X 4.3mm
Question ID : 630680665215
Option 11D : 6306802604456
Option 2 ID : 6306802604459
Option 3 ID : 6306802604457
Option 4 ID : 6306802604458
Status : Answered
Chosen Option : 1




Ans

Q.171 ___ are fast-moving waters that sweep everything in their path.

&" 1. Flash floods
#< 2. Coastal floods
Z< 3. Urban floods
< 4. River floods

Chosen Option :

Question ID : 630680665188
Option 1 ID : 6306802604349
Option 2 ID : 6306802604348
Option 3 ID : 6306802604351
Option 4 ID : 6306802604350
Status : Answered
Chosen Option : 1
Q.172 The topmost layer of a flexible pavement is
Ans X 1.Base layer
#< 2. Subgrade
& 3. Surface layer
/5 4. Sub-base layer
Question ID : 630680665155
Option 11D : 6306802604217
Option 2 ID : 6306802604219
Option 3 ID : 6306802604216
Option 4 ID : 6306802604218
Status : Answered
Chosen Option: 3
Q.173 Electronic Distance Measurement (EDM) instruments are broadly divided into types.
Ans X 1.two
X 2. four
X 3. five
o 4. three
Question ID : 630680665144
Option 11D : 6306802604172
Option 2 ID : 6306802604174
Option 3 1D : 6306802604175
Option 4 ID : 6306802604173
Status : Not Answered




Ans

< 2. Box Culvert

& 3. Arch Culvert
/5 4. Pipe Arch Culvert

Q.174 Which of the following types of culverts is similar to pipe arch culvert but in this case an
artificial floor is provided below the arch?

7% 1. Bridge Culvert

Question ID : 630680665229
Option 11D : 6306802604512
Option 2 ID : 6306802604514
Option 3 ID : 6306802604513
Option 4 ID : 6306802604515
Status : Answered
Chosen Option : 2
Q.175 6SL sclidi-Hi SINEa1 e Al GUAdL AWMLY B, SRQL S AL cdrumid Riee-t
¥ ciloy-i (hydration) il €2 €42 ©.
Ans X 1. sdl-l A
X 2. well vatsdl AL
o 3. BSU ALRAL AL
< 4 e ARseL
Question ID : 630680665212
Option 1 1D : 6306802604444
Option 2 ID : 6306802604446
Option 3 ID : 6306802604445
Option 4 ID : 6306802604447
Status : Answered
Chosen Option : 3
Q.176 Read the following about cost control in construction projects.
A. For cost control on a project, the construction plan and the associated cash flow
estimates can provide the baseline reference for subsequent project monitoring and
control.
B. For schedules, progress on individual activities and the achievement of milestone
completions can be compared with the project schedule to monitor the progress of
activities.
Identify the INCORRECT statement/statements.
Ans X 1.0nlyB
" 2. Neither AnorB
/< 3.BothAandB
X 4.0nlyA
Question ID : 630680665159
Option 1 1D : 6306802604233
Option 2 ID : 6306802604235
Option 3 ID : 6306802604234
Option 4 ID : 6306802604232
Status : Answered
Chosen Option: 1




Ans

Q.177

Concrete can be defined as a type of concrete which includes an expanding agent in
it that increases the volume of the mixture while reducing the dead weight.

/< 1. Aerated
X 2. Ferro
¥ 3. Lightweight

/X 4. Polymer
Question ID : 630680665211
Option 1 ID : 6306802604441
Option 2 ID : 6306802604442
Option 3 ID : 6306802604440
Option 4 ID : 6306802604443
Status : Answered
Chosen Option: 3
Q.178 Read the following about Energy Dissipators in Hydraulic Structure.
A. Energy dissipater is a structure provided behind an overflow section, for example a
spillway, in order to dissipate the excess kinetic energy of water at downstream of the
spillway.
B. A spillway provided in the dam site always consists of an energy dissipating structure at
the toe of the dam.
Identify the CORRECT statement/statements.
Ans X 1. Neither AnorB
" 2. BothAand B
X 3.0nlyB
< 4.0nly A
Question ID : 630680665180
Option 11D : 6306802604319
Option 2 ID : 6306802604318
Option 3 ID : 6306802604317
Option 4 ID : 6306802604316
Status : Answered
Chosen Option: 2
Q.179 formwork is a low-cost, long-lasting, and environmentally friendly technology for
producing a high-quality concrete cast surface.
Ans X 1. Steel
«" 2. Plywood
< 3. Timber
25 4. Aluminium
Question ID : 630680665204
Option 11D : 6306802604412
Option 2 ID : 6306802604415
Option 3 ID : 6306802604414
Option 4 ID : 6306802604413
Status : Answered
Chosen Option : 2




Q.180 In which of the following types of steel beam connections steel beams are linked to
supporting elements whether it is steel girders or columns with web connection angle?

Ans X 1.End plate connections
< 2. Welded framed connections
/5 3. Bolted seated connections

&" 4. Bolted framed connections

Question ID : 630680665173
Option 11D : 6306802604291
Option 2 ID : 6306802604290
Option 31D : 6306802604289
Option 4 1D : 6306802604288
Status : Answered
Chosen Option : 1
Q.181 Read the following about Air vessels.
A. Air vessel acts on the same principle on the basis of which hydraulic accumulator and
flywheel work.
B. It stores energy when there will be availability of additional energy and it releases the
energy when it is required.
Identify the INCORRECT statement/statements.
Ans X 1.0nly A
" 2. Neither Anor B
< 3.0nlyB
/X 4.BothAandB
Question ID : 630680665193
Option 11D : 6306802604368
Option 2 ID : 6306802604371
Option 31D : 6306802604369
Option 4 1D : 6306802604370
Status : Answered
Chosen Option : 2
Q.182 Which of the following types of bricks are obtained by pressing the clay in molds and fried
and dried in kilns?
Ans  # 1.Burnt Clay Brick
< 2. Molded Brick
75 3. Dry pressed Brick
75 4. Extruded Brick
Question ID : 630680665257
Option 1 1D : 6306802604624
Option 2 ID : 6306802604626
Option 3 1D : 6306802604625
Option 4 ID : 6306802604627
Status : Answered
Chosen Option : 1




Ans

called short columns.

X156
o 2.8
X 3.9
X 47

Q.183 Columns that have a slenderness ratio less than ___ times their respective diameters are

Question ID : 630680665237
Option 1 1D : 6306802604544
Option 2 ID : 6306802604546
Option 3 1D : 6306802604547
Option 4 ID : 6306802604545
Status : Answered
Chosen Option: 1
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Question ID : 630680665147
Option 11D : 6306802604186
Option 2 ID : 6306802604185
Option 31D : 6306802604184
Option 4 1D : 6306802604187
Status : Answered
Chosen Option: 1

Ans

X 1. fourth
X 2.second
o 3. first
7< 4. third

Q.185 Foundation and plinth shall be of ____ class brickwork with lime mortar over lime.concrete

Question ID : 630680665160
Option 11D : 6306802604239
Option 2 ID : 6306802604237
Option 31D : 6306802604236
Option 4 1D : 6306802604238
Status : Answered
Chosen Option : 1




Q.186 The concrete combined once placed can compact by its own weight and is considered

Ans X 1. High-Performance Concrete
#< 2. Vacuum Concretes
25 3. Stamped Concrete

&" 4. Self-Consolidating Concrete

Question ID : 630680665218
Option 11D : 6306802604470
Option 2 ID : 6306802604468
Option 3 ID : 6306802604471
Option 4 ID : 6306802604469
Status : Answered
Chosen Option : 4
Q.187 ddioid Ui[BA[[d1 F2uni s2eil cidii-l unidel A1 8?
Ans X 1.AR
X 2.4
X 3.uin
o 4.1
Question ID : 630680665232
Option 1 ID : 6306802604526
Option 2 ID : 6306802604524
Option 3 ID : 6306802604527
Option 4 ID : 6306802604525
Status : Answered
Chosen Option : 4
Q.188 DAzl 5y w1e5-3(-U2 vil@g Al (HDPE)< 2is GelsWlL 6?
Ans X 1.l ollee
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Question ID : 630680665260
Option 11D : 6306802604636
Option 21D : 6306802604637
Option 31D : 6306802604639
Option 41D : 6306802604638
Status : Answered

Chosen Option : 2




road bridges for vehicles?
Ans " 1.Bridge Culvert

< 2. Box Culvert
Z< 3. Pipe Arch Culvert
/5 4. Arch Culvert

Q.189 Which of the following types of culverts are provided on canals or rivers and also used as

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680665230
6306802604516
6306802604518
6306802604519
6306802604517
Answered

1

Q.190 Yued uResH-IL S2el HILtHI-L GuuidL 211 B?

Chosen Option :

Ans X 1.d

X 2.uin

o 3.AR

X 4.1
Question ID : 630680665157
Option 1 ID : 6306802604224
Option 2 ID : 6306802604227
Option 3 ID : 6306802604226
Option 4 ID : 6306802604225

Status : Answered
Chosen Option : 4
Q.191 Which of the following is NOT a factor affecting the orientation of a building?
Ans X 1.The direction of Road/Street

#5 2. Nature of Rainfall

" 3. Moon path

/5 4. Surroundings
Question ID : 630680665202
Option 1 ID : 6306802604407
Option 2 ID : 6306802604406
Option 3 ID : 6306802604404
Option 4 ID : 6306802604405

Status : Answered

3




Q.192 Which of the following types of steel has an alloy of Chromium with a minimum of 11%?

Ans X 1. Carbon steel

75 2. Alloy steel

75 3.Tool steel

¥ 4. Stainless steel
Question ID : 630680665259
Option 1 ID : 6306802604635
Option 2 ID : 6306802604633
Option 31D : 6306802604632
Option 4 ID : 6306802604634

Status : Answered
Chosen Option : 4
Q.193 A uBut gt aRU Wil asHlaHi A1 onu B,
Ans & 1. WRQL (Infiltration)

X 2. csdictos-(Evapotranspiration)

< 3. 52Ul aRu1e(Precipitation)

< 4. a-ls201 (Condensation)
Question ID : 630680665190
Option 11D : 6306802604358
Option 2 1D : 6306802604356
Option 31D : 6306802604359
Option 41D : 6306802604357

Status : Answered

Chosen Option :

1

Q.194 Following are the different characteristics of force systems.

Ans

A. The magnitude of the force.

B. Point of application of the force.

C. Line of action.

Which of the following is/are CORRECT?

< 1.0nlyB

X 2.BothAandC
X 3.0nlyA

o 4. A BandC

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680665249
6306802604593
6306802604594
6306802604592
6306802604595
Answered

4




Q.195 The

axial flow concepts.

turbine is an internal flow reaction turbine that combines both radial flow and

Chosen Option :

Ans X 1.Pelton
< 2. Propeller
«# 3. Francis
/5 4. Kaplan
Question ID : 630680665192
Option 11D : 6306802604367
Option 2 ID : 6306802604366
Option 31D : 6306802604364
Option 4 ID : 6306802604365
Status : Answered
Chosen Option: 3
Q.196 DAzl sUl yat A2l (material) U AR 2012
Ans X 1.des s2dl
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Question ID : 630680665153
Option 1 ID : 6306802604208
Option 2 ID : 6306802604210
Option 3 ID : 6306802604209
Option 4 ID : 6306802604211
Status : Answered
Chosen Option : 4
Q.197 3osd-ll sl [Creatimi w421 31 2udell 8?
Ans X 1.5
X 2. clsle
X 3. w3l
o 4.A%sle
Question ID : 630680665146
Option 11D : 6306802604182
Option 2 ID : 6306802604180
Option 3 ID : 6306802604181
Option 4 ID : 6306802604183
Status : Not Answered




Ans

o 1. Gleclls201 (Sublimation)
X 2. aRxle (Precipitation)
75 3. cisdledat (Evaporation)

5 4. als29L (Condensation)

Q.198 xR (S w2l ¢15 WD ot (St 1 edl o well otrvuni uRaldd 211 & caR A s us
(hydrological cycle)-il sl deissi sé 8?

Question ID : 630680665191
Option 11D : 6306802604361
Option 2 ID : 6306802604363
Option 3 ID : 6306802604360
Option 4 ID : 6306802604362
Status : Answered
Chosen Option : 1
Q.199 Which of the following types of construction planning focuses on day-to-day activities and
operations within a construction project?
Ans X 1. Project planning
& 2. Operational planning
#< 3. Strategic planning
/< 4. Financial planning
Question ID : 630680665171
Option 11D : 6306802604282
Option 2 ID : 6306802604280
Option 3 1D : 6306802604281
Option 4 ID : 6306802604283
Status : Answered
Chosen Option: 2
Q.200 _____ in construction involves estimating and managing the financial aspects of a project.
Ans X 1. Operational planning
#< 2. Project planning
/< 3. Strategic planning
& 4. Financial planning
Question ID : 630680665170
Option 1 1D : 6306802604276
Option 2 ID : 6306802604278
Option 3 ID : 6306802604277
Option 4 ID : 6306802604279
Status : Answered
Chosen Option : 2




Q.201 If the size of watershed is > 50,000 Ha, then it is knownas _____.

Ans

&" 1. Macro watershed
X 2. Micro watershed
75 3. Sub-watershed
X 4. Milli-watershed

Question ID : 630680665184
Option 11D : 6306802604332
Option 2 ID : 6306802604335
Option 3 ID : 6306802604333
Option 4 ID : 6306802604334
Status : Answered
Chosen Option: 2
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A. s10{ s8R RE-512S§ WI(EHR-T Gulal Biseilz? WEUl Geule-d sl HIZ Al B, SRERLS d
Al 2u1mllA Hituet Ad ay Gadiasel (buoyancy) (d-l 2] -t 51261) UelH 53 .
B. FRP ol si(52 225URil AidRs Hoyoidlsgl 112 Guldl A 8.
ARj/AAL Qe [@a-iia 2iaell sdidl.
Ans X 1.HAB
2$ 2. Al B SIS A8l
o 3. A B oid
X 4 ULA
Question ID : 630680665258
Option 1 1D : 6306802604629
Option 2 ID : 6306802604631
Option 3 ID : 6306802604630
Option 4 ID : 6306802604628
Status : Answered
Chosen Option: 3
Q.203 Read the following about Electrical layouts of simple Buildings.
A. When designing electricity supply to a residential building, design power for both
separate groups of the switchgear and the feeding lead in general must be determined,
considering the existing or planned using equipment.
B. Three-phase, two-phase, and single-phase using equipment can be connected to three-
phase switchgears.
Which of the following is/are INCORRECT?
Ans X 1.0nlyB
" 2. Neither Anor B
/X 3.BothAandB
< 4.0nly A
Question ID : 630680665166
Option 11D : 6306802604261
Option 2 ID : 6306802604263
Option 3 1D : 6306802604262
Option 4 ID : 6306802604260
Status : Answered
Chosen Option: 3




Q.204 _____ weir is also called as Cippoletti weir.

Ans

& 1. Trapezoidal
/X 2. Triangular

/< 3. Broad-crested
< 4. Rectangular

Question ID : 630680665186
Option 1 ID : 6306802604340
Option 2 ID : 6306802604342
Option 3 ID : 6306802604343
Option 4 ID : 6306802604341
Status : Answered
Chosen Option : 3
Q.205 Following are the characteristics of a good brick.
A. Brick should not change in volume when wetted.
B. Bricks should be sound proof.
C. Bricks should be free from lime pitting.
Which of the following is/are CORRECT?
Ans X 1.0nly A
/X 2.BothAandB
& 3.A/BandC
X 4.BothBandC
Question ID : 630680665256
Option 11D : 6306802604620
Option 2 ID : 6306802604621
Option 3 1D : 6306802604623
Option 4 ID : 6306802604622
Status : Answered
Chosen Option : 3
Q.206 Read the following about the use of shear force and bending moment diagrams.
A. Shear force and bending moment diagrams are used to analyse and design beams.
B. By showing how the shear force and bending moment vary along the length of a beam,
they allow the loading on the beam to be quantified.
Identify the CORRECT statement/statements.
Ans X 1.0nlyB
75 2. Neither A nor B
" 3.BothAand B
X 4.0nlyA
Question ID : 630680665244
Option 11D : 6306802604573
Option 2 ID : 6306802604575
Option 3 ID : 6306802604574
Option 4 ID : 6306802604572
Status : Answered
Chosen Option: 3




Q.207 Which of the following is NOT a modern surveying equipment?
Ans X 1.Total station

< 2. Tripod
o 3. Tape
75 4. Theodolite

Question ID : 630680665145
Option 1 1D : 6306802604177
Option 2 ID : 6306802604176
Option 3 ID : 6306802604178
Option 4 ID : 6306802604179
Status : Answered
Chosen Option: 3
Q.208 Following are the objectives of Building Orientation.
A. To Provide natural light and air to the inhabitants.
B. To save the inhabitants from dust and smoke.
C. To save the inhabitants from noise.
Which of the following is/are CORRECT?
Ans X 1.BothBandC
/X 2.BothAandB
X 3.0nlyA
" 4.ABandC
Question ID : 630680665201
Option 11D : 6306802604402
Option 2 ID : 6306802604401
Option 3 ID : 6306802604400
Option 4 ID : 6306802604403
Status : Answered
Chosen Option : 4
Q.209 A__beam is a type of beam which is fixed at one end and free at the other.
Ans X 1.continuous
X 2. fixed
«” 3. cantilever
X 4. simply-supported
Question ID : 630680665240
Option 1 1D : 6306802604559
Option 2 ID : 6306802604558
Option 3 1D : 6306802604557
Option 4 1D : 6306802604556
Status : Answered
Chosen Option : 3




Q.210 The elastic constant Young's Modulus is expressed by ____.

Ans

X 1.6
o 2.E
< 3.H
X 4aF

Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680665254
6306802604614
6306802604612
6306802604615
6306802604613
Answered
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